1. [22 pts] (a) Find the general solution for the differential equation y" +9y=0.
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2. [27 pts] Give answers to these problems in real form (that is, eliminating imaginary
expressions).

(a) Find the general solution for 9y” 46y +y =0.
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3. [25 pts] Solve the Initial Value Problem y” — 4y’ + 3y =€, y(0) =0, y'(0) = ~1
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4. [26 pts| (a) Find a particular solution for y” + 2y’ 4 5y = cos2t.
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(b) Fact: y; = > and ys =3 are linearly independent solutions for the equation

Find a particular solution for t2y” — 4ty’ + 6y = V/t.
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